C:h Examining Square Root Relative Values Name:

Solve each problem. Answers
1) Will /54 Dbe closer to 7 or closer to 8? L
2) Will /20 be closer to 4 or closer to 5? ”
3) Will /92 be closer to 9 or closer to 10? 3
4 Will /40 be closer to 6 or closer to 77 4
5) Will /35 becloser to 5 or closer to 6? 5
6) Will /52 be closer to 7 or closer to 8? 6.
7 Will /62 be closer to 7 or closer to 82 7
8) Will /78 be closer to 8 or closer to 9? 8.
9 Will /43 be closer to 6 or closer to 7? 9
190 Wil V/96 be closer to 9 or closer to 107 10.
) win A/63 becloser to 7 or closer to 8? 11.
12) Will v/21  be closer to 4 or closer to 5? 12.
13) Will /66 be closer to 8 or closer to 9? 13,
14) Will /44 be closer to 6 or closer to 7? 14.
15) Will /82 becloser to 9 or closer to 10? 15.
16) Will V12 be closer to 3 or closer to 4? 16.
17) Will /89 be closer to 9 or closer to 10? 17.
18) Will /48 be closer to 6 or closer to 7? 18.
19) Will /50 be closer to 7 or closer to 82 19.
20) Will /93 be closer to 9 or closer to 10? 20.
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C:h Examining Square Root Relative Values Name: Answer Key

Solve each problem. Answers
b Will v/54 be closer to 7 or closer to 8? 1 V4
2) Will /20 be closer to 4 or closer to 5? 2 4
3) Will /92 be closer to 9 or closer to 10? 3 10
4 Will V40 be closer to 6 or closer to 72 4 6
%) Will /35 bedloser to5 or closer to 67 5, 6
®) Wil v/52 be closer to 7 or closer to 82 6. 7
7 Will 4/62 be closer to 7 or closer to 8? 7 8
8) Will /78 be closer to 8 or closer to 9? 8 9
9) Will /43 be closer to 6 or closer to 7? 9. 7
10) Will /96 be closer to 9 or closer to 10? 0. 10
1) Will1/63 bedloser to 7 or closer to 8? u_ 8
12) Will V21 be closer to 4 or closer to 5? 12. S
13) Will /66 be closer to 8 or closer to 9? 13.L
14) Will V/44 Dbe closer to 6 or closer to 7? 14.#
15) Will /82 be closer to 9 or closer to 10? 15-L
16) Will V12 be closer to 3 or closer to 4? 16-i
17) Will /89 be closer to 9 or closer to 10? 17.L
18) Will /48 be closer to 6 or closer to 7? 18.#
19) Will /50 be closer to 7 or closer to 82 19.L
20) Will /93 be closer to 9 or closer to 10? 20. 170
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